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Problem quickname: 5814

1)

Reduce the fraction by the given number.

b) £ by3 =

ol

a) % by 3 = %
d)2by2 =1

2)

Reduce the fraction by the given number.

a)%by?) :% b)%byQ :%
d)#by3 =3 e)3by3 =3
g @by5 =3

eby2 =3

3)

Reduce the fraction by the given number.

a)%by?) =1% b)%by?) =%
d)gby3 =4 ) Bbys5 =13
g gmbybs =3 h) $ by 6 =5
HBEby3 =4

4)

Reduce the fraction by the given number.

a)%byQ :g b)%byQ =%
d) & byd =1 e) B by2 =L
g sby3 =3 h) o by3 =1
D by2 =1%
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Quick:
5814

c)gby?) %
Quick:
5814
14
) gby2 =4
f)%byQ :i
1)%by2 :%
Quick:
5814
OBws =%
) Zby6 =2
1)%by2 :1—13
Quick:
5814
c)%—gbyIG z%
f)l%byQ :%
)2by3 =4
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Good Luck!
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